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Please read the following instruction carefully, then answer the question on

OMR answer sheet.

NMMS

This paper contains in TWO PARTSs. Part-1 Q 1 to 90 for MAT, Part-2 Q 1 to 90 for
SAT (Maths, Science and Social Science). Each question carries One mark.

All questions are compulsory.

The last page of this question booklet is meant for rough work.

The OMR contains both the two parts, mark the answer at the appropriate and
correct place as metioned in the OMR.

You must have to submit the OMR Sheet to the invigilator on completion the
examination.

Gujarati version of the question paper will be considered as final in case of any

arising out of variation in translated version.
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Reudt - 1 RS addl sl
Part - I MENTAL ABILITY TEST

o 03 vl 1 ol 10 usdl MissRAA s s PR »issRlNL dsacl A 6. dMi
25 s 2 9, ¥ w5l w02 vl AR Rsedmipl RupigaR Gl 2is Al

e In the following questions, Q. 1 to 10 are arranges in a series with some principles
of understanding it. One term in the series is missing as shownby __. This term is
given in as one of the alternative amonst the four numbers given below it. Find this
term and show your answer against the question number on the answer sheet.

iy 3,7, 10, 12,

(A) 13 (B) 12 (C) 11 (D) 14
2. 25, 16, 9, 4,

(A) 1 (B) 2 (C)o (D) -1
3. 6, 11, 16, 21,

(A) 24 (B) 25 (C) 26 (D) 27
4. 3,6,9, 12,

(A) 18 (B) 15 (C) 21 (D) 24
5. 4,7, 13, 25,

(A) 50 (B) 48 (C) 49 (D) 47
6. 1, 8,27, 64

(A) 100 (B) 125 (C) 216 (D) 175
7. 1, 2, 6, 15, 31,

(A) 56 (B) 47 (C) 45 (D) 58
8. 121, 100, 81, 64,

(A) 50 (B) 49 (C) 48 (D) 52
9. 64, 27, 8, 1,

(a) (-1) (B) o (c) (-8) (D) +8

10. 56, 51, 47, 44, 42,
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o un 1115 -l sl 2ughii atl ay d2e U 8. d weudl

¢ In question no. 11 to 15, how many maximum squares are found in each ?

11.
(A) 4 (B) 5 (C) 6 (D) 3
12.
(A) 6 (B) 7 (C) 8 (D) 10
13.
(A) 9 (B) 10 (C) 14 (D) 15
14.
(A) 13 (B) 18 (C) 20 (D) 22
15.

NMMS Page 5



o U3 ioR 16 ¥l 20 H &5 BugldMl agmi af Jec Bl © d Wkl

e In question no. 16 to 20, how many maximum tringles are found ?

16. / v\*

(A) 3 (B) 4 ()5 (D) &6

(A) 12 (B) 14 (C) 16 (D) 20

18, AN

(A) e (B) 7 (C) 8 (D) 9

. Z/ \1\;‘:.\

(a) 7 (B) 8 (C)9 (D) 10

(A) 5 (B) 6 {C) s (D) 10

e usteivik 21 ol 25 Al iAW HOURIA AL HouaRiL s34 WURL dllsasli-l AR s34 avll

e In question no. 21 to 25, write the correct sequence of alphabets on the basis
of their alphabetical order.

21. MPCK
(A)CKPM (BYCKMP (C)CMKP (D) KCMP
22. QPSR
(A)PQSR (B)PRQS (C)PQRS (D) PSQR

B e N S
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23. FDWYV

(A)DFWV (B)DVFW (C)FDVW (D) DFVW
24, SMKO

(A)KMOS (B)KMSO (C)KOSM (D) KSOM
25. KRGN

(A) GKRN (B) GKNR (C)GNKR (D) GNRK

o sl +ioR 26 ol 30 A oprRidl 3euaRlal sl sulda 8. wa Rsewrll g el
§=2,01=4,4=6,4=8

e In question no. 26 to 30, English alphabets are given the numbers. Find the
correct answer from the alternatives.

K=2,G=4,M=6,L=8

26. WL § @ ORICR 324l !

(A) 2468 (B) 6428 (C) 6482 (D) 6248
26. What is the number equal to M GKL?

(A) 2468 (B) 6428 (C) 6482 (D) 6248
27.  §WOQ GRIR sl ?

(A) 2684 (B) 2468 (C) 2648 (D) 2864
A What is the number equal to KM GL?

(A) 2684 (B) 2468 (C) 2648 (D) 2864
28. OldMs ORIR s2al !

(A) 4826 (B) 4682 (C) 4628 (D) 4862
28. What is the number equal to G LMK ?

(A) 4826 (B) 4682 (C) 4628 (D) 4862
29.  @5¥3 GRIOR s2al ?

(A) 8264 (B) 8246 (C) 8624 (D) 8426
29. What is the number equalto LKM G ?

(A) 8264 (B) 8246 (C) 8624 (D) 8426

NMMS Page 7
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50, SHE I AL wigled Wil deal ?
(4) 12 (B) 16 (c) 20 (D) 18
30. What is the numberequaitc KM LG?

(A) 12 (B) 16 (C) 20 (D) 18

o w21 gl 35 YR Bl el 8. s MR S sreen gl Wl 6. 2 Uk

o In guestion no. 31 to 35, four figures are given One figure is ditfeerent fo
all otber figures. Find [,

w
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36.

40.

Y
[TF=X

! |

U8 ViR 36 ol 40 | Wibas o sy oy Rseunish waiz 52 el

In question 36 to 40, find the correct alernatives in code language.

FOUR -l 20Bids @il 5894 &mpq, adt FIVE 4 Xisis spil 5321 awiy dl, RIVER
iR el g @vuy 7

(A) 23284 (R1 43244 (C) 43292 (D) 4321¢

{FFOUR is written 5894 and FIVE is written 5321 in code language, How is RIVER
written 2

(B) 43244 (C) 43294 (D) 43214

TEN < itfisul 542 aul TWO 9 567 aviie &l TWON 2 9L amy ?

(B) 5627 {C) 5642 (D) 5672

ff TEM is written 542 and TWO is written 567, than how is TWON 7

(B} 5627 () 5612 (1D} 5672

o

RAM = 513, GAN = 416 awiin ot RAG musiy, 41sH] 3, e ?

{A) 415 (B) 541 (C) 514 (D} 154
If RAM = 513, GAN heit RAG = 7

(A} 415 {B) 541 (C)514 (D) 154
SIX = 548 dal ONE = 312 duid ol NINE s, §f et ?

(A) 1212 (B) 4121 (C) 2141 (D) 1214
If $1X = 548 and ONE = 312, then NINE = ?

(A) 1412 (B} 4121 (C) 2141 (D) 1214

KRISHNA = 5748361, RADHA
(A} 2878312 {(B) 2763821 (C) 2678321
[f KRISHNA = 5748301, RADHA = 71231, ¢

(A) 2876312 (B) 2763821

tnen DARSHAN =7
(C) 2678321

WA ik 41 % 50 Y o4 wivy el viest L B 7

fn question 41 to 54, which one is odd?

(C) ey

(A) elloggiey {B) qmiay (D) =iy

(A) Hotel C} Temple

v}
X
‘e
=y
=
e
3.
o)
st
Ay

(D} Bathroom

DI — -__——_"—_-—_———M e —
NMMS Page ©



42.

42.

43.

43.

44.

44,

45.

45.

46.

46.

47.

47.

48.

48.

49.

49.

50.

51.

(A) &R

(A) Temple

(A) ad o wall  (B) wausrend 83

(B) “Rase

(B) Mosque

(A) Lal Bahadur Shastri

(B) Javaharlal Nehru

(A) suer
(A) Carrot
(A) shayfe

(A) Balsrusti
(B) Sandesh

(A) Amar

(A) Monday
(A) 0w

(A) Ramayana
(A) sy

(A) Jaypur
(A) susell

(A) Kathakali
(a) B3e

(B) »ug
(B) Ginger
(B) A

(B) otiar

(B) Wednesday
(B) ueietid

(B) Mahabharat

(B) *ous§

(B) Mumbai/Bombay

(B) #Reyd)
(B) Manipuri
(B) ¢1dl

(C) aa

(C) Charch

(C) Wi atitlley

(D) talsuon
(D) Inn

(D) Uz il

(C) Mahatma Gandhiji

(D) Rajiv Gandhi

(C) 3

(C) Raddish

(C) QR WHAR

(D) ¢fle
(D) Beat

(D) [Ben o2

(C) Gujarat Samachar

(D) Divy Bhasker

(C) daum

(C) Vaishakha
(C) susSere

(C) Bible

(C) viMeiue

(C) Ahmedabad
(C) séyacll

(C) Kathputli

(C) R

(D) AQar

(D) Sunday

(D) ewwagalict
(D) Bhagvargita
(D) oliva

(D) Bopal

(D) QRelr12yy

(D) Bhatatnatyam

(D) aielleila

&L -oR 51 ofl 55 wi %0 woe e 8. 2 il WA Avicll dq >l wRbisy 2w
8. A IR suden AR Rsedaiiel w2 oeusy el FAUCUA GUR 2 A UaL ~ioiRel i eafd).

In question No. 51 to 55, English words are given, which are held before th
mirror, its image is seen. Find it from the following alternatives and write th,

correct answer on your answer sheet,
Song £ (Mirror)

(A) gno2

(B) Buog

(C) zou8

(D) Song

NMMS Page 1



52.

53.

54.

55.

56.

56.

57.

57.

58.

58.

59.

59.

NMMS

WHAT £ (Mirror)

(A) mHve (B) tvHm
gold g (Mirror)

(A) Borg (B) bios
TIME £ (Mirror)

(A) IwiIT (B) IMIL
HoRsE g (Mirror)

(A) 3%40H (B) EsRoH

C} TaHw
(C.

(C) pio2

(c) 3IwiT

{C) 3eflcH

(D) WHAT

(D) blog

(D) Fofied

WA ~oR 56 ol 60 Hi wa & weei-l Akt 2ol il el vl ooul WL

In question No. 56 to 60, fill in the biank keeping the relationship of first two

words/ two words in example.

A : gfluin s et s ?
(A) siSgidleR (B) d@seixfler
Time: Clock : Atomspheric Pressure :?

(A) Hydrometer (B) Lectometer
2 ouRdl : ?
(B) b

:: Perspiration : 7

didl : eey
(A) carul

Blood : Heart

(A) Skin (B) Kidney
flogefl @ Al gl ;7
(A) Hiewsrk (B) aug

Electricity : T.V. :: Petrol: ?

(A) Motorcar (B) Cart
Husefl : oMy o oosd] 2 7

(A) well (B) wsll
Honeybee : Honey :: Goat :?
(A) An Animal (B) Water

(C) elRp{eR

(C) Barimeter

(C) 3l

(C) Lungs

(C) aswudl

(C) Horse carriage

(C) g

{C) Milk

(D) willaz

(D) Ameter

(D) 2R

(D) Stomiach

(D) wuse

{D} cycle

(D) &y

(D) Grass

Page 11



60.

60.

61.

62.

63.

64.

65.

66.

67.

67.

2:8 u5:°7?

(C) 12

(€) 12

(D) 25

(D) 25

UsL R 61 ol 65 i ¥idew A dou SR dlsadel 3, s viaR Al s 4

In question No. 61 to 65 the English are arranged order. One is not in or

(4) 16 (B) 29
2:8 157

(A) 16 (B) 20
i,

Find it.

ADGKM

(A)D (B) G
MOQSV

(A) v (B) O
BFJMR

(A)] (B) M
ZXVUR

(A) X (B)V
UWXY?Z

(4) z (B) W
0.15 + 0.0015 = ?

(4) 150 (B) 1500
0.15 +0.0015= ?

(A) 150 (B) 1500

(C) K

(c)s

(R

(Q)u

() X

(C) 100

(C) 100

vuell ool dion Rget 3381 Fefl wllsret 13w,

13 6 7 =155

(A) +, x (B) x, +

Fill in the blank in such a way that the equation become true.

13__ 6 7=55
(A)+Ix (B)X’-f-

(€) +,-

(C)+, -

(D) M

(D) Q

(D) F

(D)R

(D)u

(D) 0.015

(D) 0.015

(D) +, +

(D) +, +

NMMS Pag
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68. PXQ=16x 17 &l dl JXL = ?

(A) 10 x 11 (B) 10 x 12 (C) 11x 12 (D) 13 x 14
68. If PXQ=16 x 17]XL=__ ?

(A)10x11 (B)10 x 12 (C)11x12 (D) 13 x 14
69.  XYZZWYZXYWZIYYXZYZZ -  ZZ°A3 %d 3ecl auid 24 8 ?

(A) 1 (B) 2 (C)3 (D) 4
69. XYZZWYZXYWZYYXZYZZ - How many times dose ZZ come in it?

(A) 1 (B) 2 (€)3 (D) 4
70.  ABBCDEBABCBBDABCBBA - BB %3 %3 32dll avid 2Ud & ?

(A) 4 (B) 3 (C) 2 (D) 1
"70. ABBCDEBABCBBDABCBBA - How many times dose BB come init?

(A) 4 (B)3 (@2 (D) 1
71, lfs Ad Aoy sx saldl.

(P) <€, (Q)oRg (R) udd (S) s

(A) R-Q-S-P (B) R-Q-P-S (C) R-S-P-Q (D) P-Q-S-R
71. Show the proper order logically.

(P) River (Q) Stream (R) Mountain (S) Sea

(A) R-Q-S-P (B) R-Q-P-S (C) R-S-P-Q (D) P-Q-S-R
72, Wt el @t 7 WA 8. A sl Grredl el 17 axl € ol el G Zeedl ?

(A) 12 ad (B) 10 «dl (C) 5 ax (D) 24 ax
72. Shyam is 7 years older than ram. if the total age of both is 17 years, what is the age

of Ram ?

(A) 12 Year (B) 10 Year (C) 5 Year (D) 24 Year
73.  uadl s uhlrl RBad ofaR Sl dl oS s1d sdl AR edl ?

(A) Adar (B) AHAR (C) Wrar (D) agar
73. If the day after tomorrow is Wednesday, then what say was yesterday?

(A) Sunday (B) Monday (C) Tuesday (D) Thursday
74. o sl Auen s

(A) M (B) sist (C) oA (D) &8
74. Whose mother's son are you?

(A) Maternal uncle (B) Uncle (C) Sister (D) Paternal Ant
e e 18
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75. 1w 3 i 1 ot divisHi Sid aw- ay ?

(A) dlvig (B) 3 (C) oiA A (D) A3 sl
75. Which is heavier, 1 k.g. cotton or 1 k.g. iron?

(A) Iron (B) Cotton (C) Both are equai (D) Neither ¢
76.  is ud Banddl B2 3edl ?

(A) 144 (B) 1440 (C) 288 (D) 72
76. How many minutes do a day and a night make?

(A) 144 (B) 1440 (C) 288 (D) 72
77. 1l eRieR deal [@2R ?

(A) 100 (B) 1000 (C) 10 (D) 10000
77. How many liters are equal to 1 cube meter ?

{A) 100 {B) 1000 (C) 10 (D) 10000
78, dguiy Soign Al Yo &4 7

(A) 2mr (B) 27cr? () mr? (D) mr
78. Which is the formula to find out the area of a circle?

(A) 2mr (B) 2nr? (C) mr? (D) mrr
79. it Meurll sl G R g aw ? .

(A) olén (B) s (C) &8 (D) aadl
79. What is the relationship between the paternal aunts of the daughter o

maternal uncle?

(A) Sister (B} Mother (C) paternal aunt (D) maternal
§0.  wiuRW Bairil deabil sl 2L v O ?

(A) sldsi (B) Awn (C) sidaizal (D) 23R8t
80. Which country is quite different with reference to India ?

(A) Shri Lanka (B) Nepai (C) Bangiadesh (D) America
81. 16 e diowl airirll Ael-o12t Hlerrl 5 ARV 2591 saAL B2cl qvid addl wial ?

(A) 5 (B) 4 (c) 3 (D)5
B1. How many times should cut a 15 meter long po;e to make five pieces of 3 |

each?

(A)S (B) 4 (@3 (D)5
NMMS -
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82.

82.

83.

83.

84.

84.

85.

85.

86.

86.

87.

87.

88.

88.

s o Sl lsollonl 21414 udai 4 usil (Rog Houses) A 3eell St Beuell (sR0) elu?

(A) 4 (B) 3 (C) s (D) 6

How many common walls does a row of five houses in a row ?

(A) 4 (B) 3 (@5 (D)6

sl M sl >tRiell 2L W S ?

(A) oyl (B) darRl (C) wal (D) A

Which of the following months differ from the rest?

(A) January (B) February (C) March (D) May

yd w1 efRRt Bau ozl 56 Ra (wsll) S B ?

(A) Sau-t (NE) (B) B+ (SE) (C) Ameu (SW) (D) qwuen (NW)
Which direction or angle lies between the East and the South?

(A) Ishan (NE) (B) Agni (SE) (C) Nairutya (SW) (D) Vayavya (NW)
ol cmid Mg 4l el WA B, dl el wiat aloll el 56 Raw vlciad ?

(A) GR (B) eaw (C) WAn (D) $aurt (NE)

You are facing the Sun at sunrise. Which direction will your right hand show?
(A) North (B) South (C) West (D) Ishan (NE)
st <o 86 ol 90 i FURALs Rigrll Yt Wi sieelA g Y

Simplify following question No. 86 to 90 change by mathematical sing as per
instruction.

+ L oted - dal x A olgd + Atl 15 x 5 + 2 o g 3 3eg wud ?

(A) 5 (B) 4 (C) 3 (D) 1

What is the simple form of 15 x 5 + 2 taking (-) instead of (+) and (+) instead (x)?
(A)5 (B) 4 (@3 (D)1
+oied x i - A oigd + Adl 5 +3-7 = 7

(A) 50 (B) 22 (C) 38 (D) 40

Taking (+) and (+) insteas of (-), what is the simple form of 5+3-7 = ?

(A) 50 (B) 22 (C) 38 (D) 40

+oed + - Aoed x Adi 12+ 6-5=7?

(A) 13 (B) 12 (C) 10 (D) 8

Taking (+) instead of (+) and (x) instead of (-), what is the simple form of 12+6-5 =7

e —————————————————————————————————————————

NMMS
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89.

90.

90.

(A) 13 (B) 12 (C) 10 (D) 8
+ A ogd x wid - A ol + @i 30 - 15+5=7?
(A) 20 (B) 10 (C) s (D) 15

Taking (x} instead of (+) and (+) instead of (-). what is the simple forn

30-15+5=?
(A) 20 (B) 16 (C) 5 (D) 18

W (+) A ot (-) v (=) A ol (%), (%) A e (+) qu (+) A oied {(+) &dl 13 + 3
X2 =4 g M d2q wy ?

(A) 5 (B) 1 (C)s (D) 34

Taking {+) instead of (-}, (x)instead of (-), (+) instead of {x) and (+) instead of (
what is the simple form of 13+3-6 x2+4
(A} 5 (B) 1 (C) 8 (D) 34

Page



[@Qeunt - 2 / Part - 11
uondly Yyt s0él / SCHOLASTIC APTITUDE TEST
/i | Maths

-

1. 20 4l donsS, 2 1z udious awou siusniell 50 A ML Al J2al AR Byl o, ?

(A} 125 (B) 100 (C) 80 - (D) 60
i How tiiany square of 50 cm. can be cut of from a piece of cloth having 10 meters

icngth and 2 meters width.

(A} 125 (B) 100 (C) 80 (D) 60
2. 8000 " 20% il 10% oiRIeR s2dl ?

{A) 80 (B) 160 (C) 40 (D) 200
2. 109% of 20% of 8002 isequalto__ ?

{A} B0 {B) 160 (C) 40 (D} 200
3. (—2)* = (=2)% =

(A) 0 (B) (-2) (c)3 (D) 1
3. (=2¥ = (-2¥=__

FAVD (B) (-2 (€) 3 (D) 1
4. 21422+23+.......+50 Ul Wl Jedl ?

(A) 1275 (B) 1125 (C) 1055 (D) 1065
4, What is the addition of 21+22+23+......+50

(A} 1275 (B) 1125 (C) 1055 (D) 1065
5. 2% x 7% = 28wl Sea Giranell 18 34 ?

{(A) 5 (B) 12 (¢) 10 (D) 6
5 Wrich namber is addes in 2” x 2° + 2% to get 187

(A5 5 (BY12 (C} 10 (D)6

5. mo= 2mAn = 18 di 3m? — 12mn + 14n° 4 Bug 3edl w ?

f4Y-28 (B) 2 (€)3 (D) 6
6. if w1 =2 and n = 1, Whatis the value of 3m? — 12mn + 14n??
(A} -26 (B) 2 )3 (D) 6

NMMS Page 17



10.

10.

11.

11.

52

12.

13.

13.

(-3) 2 3 R 3edl yel it 20del § ?

(A) 5 (B) 7 (€3 (D) 2
Which whole numbers are between (-3) and (+3)?
(A)S (B)7 (@3 (D) 2

e A0 52 AR, Wi A AR Al ?

(A) ARA (B) oUy APPSR (C) iR (D) uudst
Which of the following quadrilateral is not parallelogram ?

(A) Square (B) Rhombus (C) Rectangle (D) Trapezium
g ekl 35 0 21 Bepell W R dl 12 el A o s S2al Barrd i R 7

(A) 12 (B) 14 (C) 15 (D) 18

If 8 persons completed 1 work in 21 days, then how many days do 12 persons
to complete the same work ?

[

(A) 12 (B) 14 (C) 15 (D) 18

a5 adorll uRe 88 AML 8. dl &+l Browt 3eell a ?

(A) 7 AL (B) 14 AL (c) 21 A (D) 28 &AM
If the circumference of a circle is 88 cms, what the radius of it 7

(A) 7 cm (B) 14 cm (C)21cm (D) 28 cm

A v Brda e safadl i gl ?

(a) () B[] (et (D) <
What is te indicator / symbol to show absolute value >
A 0) B[] @1 (=

3ls 23t} 107 AP 3 alr} Aig AUTYEA 7 2600 AR 8. dld w86 ?
(A) T 3000 (B) 7 4000 (C) z 2000 (D) 7 2500

The simple interest of the principle amount at the rate of 10% for 3 years
2600, What is the amount?

(A) Rs. 3000 (B) Rs. 4000 (C) Rs. 2000 (D) Rs. 2500
si2dial Bralirl >t Wil Rl Lodl aw?
(a) 80° (B) 90° (C) 180° (D) 360°

What is the addition of all the angles of a triangle ?
(A) 80°° (B) 90° (C) 180° (D) 360°

-
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14.

14.

15.

16.

16.

17.

18.

18.

£9,

19.

3x+7

= 5 2 {50l G g4 ?

(A) -1 (B) 2 (C)1 (D) 3
Find a soution of 3x;7 =5
(A)-1 (B) 2 €)1 (D)3

sie Rl Gar yoirll Gt 3 ouell 2 axl el B, A oi-l Grerilaraiedl 54 ¥ adl S dl
sle Yoirl G 32l ?

(A) 40 @y (B) 14 ax (C) 24 @y (D) 10 @y

Present age of father is 2 years less than 3 times age of the son. If the total age of
both is 54 years, What is the present age of the son.

(A) 40 year (B) 14 year (C) 24 year (D) 10 year
[(@)” X (@¥)*] + a® < 2ug 34 2wl

(A) a? (B) a* (C) a¥ (D) a*¥
Simplify [(@¥)¥ x (a¥)*] = a®
(A) a? (B) a* (C) a” (D) a*¥

2x, 3%, 4x Al WA 32l 2y ?

(A) 9x3 (B) 9x? (C) 9x (D) 9x°
Whatis the addition of 2x, 3x, 4x
(A) 9x° (B) 9x? (C) 9x (D) 9xY

siugt Agpsial gl HeuBigaild sual: Aldi 540l AL 1 ?

(A) weuy (B) umda (C) WiLaR buy (D) dotaira
Which quadrilateral is formed if the mid-points of the sides of a quadrilateral are
joined ?

(A) Trapezium (B) Rhombus (C) parallelogram (D) Rectangle
362792 — 49 w1 vigyq s34t ?

(A) (6xy + 7)(6xy + 7) (C) (6xy — 7)(6xy + 7)

(B) (6xy = 7)(6xy - 7) (D) >l »is uat Al

Which are the factors of 36x%y? — 49

(A) (6xy + 7)(6xy + 7) (C) (6xy = 7)(6xy + 7)
(B) (6xy — 7)(6xy — 7) (D) No one
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00. s RuMd uasierl g5 sid:5e 32al Ml w7

(A) 72° (B) 108° (c) 110° (D) 90°
20. What is the measurement of the interior angle of a pentagon?

(A) 72° (B) 108° (C)110° (D) 90°

clRswa | Physics

21, 3ets (WoAz)-lA-w 4 66 tudA wusig el ?

(A) dlvis (B) div (C) Rsa (D) sleue2
21. Which of the following metals is not attracted by magnet?

(A) Iron/Steel (B) Copper (C) Nickel (D) Cobalt

22. s usiaa Hed 32g ¥R ?

() 9.46x10"° Bl (B) 9.46x10"" B3l (C) 9.46x10" B.ML (D) 9.46x10"° B
22. What is the distance of one light-year?

(A) 9.46x1010 (km). (B) 9.46x10'! (km). (C) 9.46x1012 (km). (D) 9.46x10%* {3
23, awerll ¥ sidR B s USR-L GRUEA © ?

(A) uddl usR-y (B) ollot wsiR+i (C) >llon s+ (D) s uRt 4l
23, What type of lever and scissors?

(A) First Type (B) Second Type (C) Third Type (D) No one
24, eRd Wsla &g Gert L - AP sl Gels 2udel o 7

(A) 2wfan (B) cupusd (C) Sz (D) S
24. Which enzyme is found in firefly cold source of natural light.

(A) Ptyalin (B) Lyciferase (C) Invertase (D) Erepsm
25.  youset qud sl wasiely el a2l giu ?

(a) 3 (B) yedl (C) 2is (D) us
25. Which celestial body is in the middle during Solar eclipse?

(A) The Sun (B) The Earth (C) The Moon (D) Venus
26. M-l ssiadoiil sidli-u foredl J2al eissi 2udal  ?

(A) 33 (B) 25 (C) 22 (D) 30
26. How many bones there in the rib cage of the human skeleton?

(A) 33 (B) 25 (€) 22 (D) 30

%
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27. sl Gur wiell dl sa1 usiR-l Glost Gt i § ?

(A) Rl Qo (B) uiBt Qo (C) 2 Qost (D) s Qo
27. What type of energy emerges while water is poured on quick-lime?

(A) Static energy (C) Kinetic energy

(B) Mechanical energy (D) Chemical energy
28.  ‘ciRell uerdd-ll R SI8L aled) ¢dl ?

(A) 2uBER (B) w42 (C) Al (D) AR
28. Who searched the 'Low of flotting' object?

(A) Archimedes (B) Newton (C) Galilio (D) Edison
29.  olllds gl Guaiol - Hiue saL A 8 ?

(A) st (B) axsur (C) endg (D) demaid
29. For which measurement is scientific balance used?

(A) of size (B) of speed (C) of mass (D) of space
30.  [Aeid wolen su1 Visuul wami 204 8 ?

(A) et (B) ez (C) »lgn (D) »baflur
30. What is the measuring unit of electric current?

(A) coulomb (B) volt (C) ohm (D) Ampere
31, ghaell Erdclt HuuaL e &4 b qurRi ) ?

(A) s1giler (B) aseiler (C) oRidler (D) diearlr
31. What equipment is used to measure fat?

(A) Hydrometer (B) Lactometer (C) Barometer (D) voltmeter

RuRUd [ Chemistry

32, ~{lal-eiiell sl veied oL @M woid e oird 8 ?

(A) Hsi sl (C) tlaurtt A8t gl

(B) ellojl 224 (D) ARun suusweilded giam
32. Which of the following substances turn the blue litmus into red?

(A) Salt-water (C) Soda-water

(B) Lemon juice (D) Sodium bi-carbonate solution
33.  HLst el ALl Ay g4l ?

(A) uSglon (B) laun (C) a1l (D) Ui+
33. Which gas burns with blast?

(A) Nitrozen (B) Hillium (C) Hydrogen (D) Ozon

m
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34, s qlae 2 s SRy R © 7

(A) 8t + wy (B) adt + wasl (C) wansl + iy (D) srt-+ucudl+aw
54. What type of mixture is the sugar solution?

(A) Solid + Gas (C) Liquid + Gas

(B) Solid + Liquid (D) Solid + Liquid + Gas
35 sl vs wilardls <l ?

(A) P.V.C. (B) wlafr (C) A& (D) uilRReR
35 Which substance is not thermoplastic?

(A)P.V.C. (B) Polythene (C) Melamine (D) Polystirine

36,  oiRgr @dLrlbig A GesarBlg 2igsi UL S ?

(A) -4° @A 104°c  (B) 0°c i 100°c  (C) 20°f 4 180°F (D) 40°f vt 2009
36. Where is freezing point and boiling point respectively?

(A) -4°cand 104°c  (B) 0°cand 100°c '(C) 20°fand 180°f (D) 40°f and 200!
37, a@Sps R oilladl s4l Uels auRU 8 ?

(A) st (B) uesR (C) g (D) iR+
37. Which substance is used to produced Vulcanizing rubber?
(A) Carbon (B) Sulphur (C) Phospherous (D) lodine

3. Qe aeellsel (RRE ctant) -l Bl Gt audl &R sl 6 ?
2N80H+H2804 —>NaxSos+ 2H-0

(A) NAOH (B) H2Sos (C) Nazso4 (D) Hzo
38. What slut is produced in titration?

2NaoH+H:S04...- NazSo4 + 2Hz0

(A) NAOH (B) HzSo4 (C) Nazso4 (D) Hzo
39, H2sirl Ul R PsRirl 54 A wR 9 7

(A) 3 (B) 4 (C) 7 (D) 8
39. What are the types of mixture of substances on the bases of formation?

(A)3 (B) 4 (@7 (D)8
40, R 10 RRRAZR slagt wrdA Ad S sy il arRall ?

(A) e (B) 2reauyel (C) sars (D) ofis2
40. You want to take 10 mm solution. Which equipment will you use?

(A) Pipette (B) Test-tube (C) Flask (D) Beaker
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a1, DA uuas wBuid wllsa yel sl
KOH+HCI --> KCI + _.
(A) H: (B) H,0 (C) KOH (D) HCI
41. Complate the equation of following chemical?
KOH+HCI --> KCI + __.
(A) H; (B) H20 (C) KOH (D) HCI
42, &AlRA rarll wRaug] il sa usR SAsil ollgasll 3 Gl S ?
(A) 228 (B) 2,8,5 (C) 2,8,7 (D) 2,8,6
42. In atom construction of clorine, what type of arrangement of electron is found?
(A) 228 (B) 2,8,5 (C) 28,7 (D) 2,8,6
43, QA-iell 3 @t R Aell ?
(A) 2R xR W2l lu B,
(B) cterellsmil yus a3 Brllesddn auriy 8.
(C) sleama sellRiSs L 6l 6.
(D) well 21 s A .
43. Which of the following statement is not true?
(A) Acid tests sour.
(B) In a titration phenolphthdein is used as indicator.
(C) Calcium cloride is a base.
(D) Water is compound.
@afdalir [ Biology
44. ‘el wR -l 2R 0 8. dd s AU 2l s1ed e ?
(A) Asdvr ds2 At (B) wodledis ol (C) el wgeedis 3 (D) SL il cuer
44, Which scientist invented 'Music affects' the plants?
(A) C. V. Raman (C) Acharys Prafulchandra Pat
(B) jagdishchandra Bose (D) Dr. Hoomi Bhabha
45. 5l ol Goyaell sul Baxt o3 a & ?
(A) B ar [Bax (B) B vuirat Bart (C) Ru il Bax (D) R o0 Ban
45. As what day is 5th June celebrated?
(A) World forest Day (C) World Animal Day
(B) World Environment Day (D) World water Day
46. [l usis-u Gersrall s4i S ?
(A) g8 244 s1Ral (B) stztet 2 32t (C) gal i eusll (D) dwe A deiol
46. Which are the example of 'Visarpi' stem?

(A) Graps and bitter gourd (C) Durva and Bhrahmi
(B) Pottoes and Amorphophallus (Suran) (D) Bean and Rose

“

NMMS

Page 23



47. oy 3 g sl sl Tpdlfid 2% SARIDS il alitis AauMs oL eat ?

(A) % ifkemig ol
47, Which
(A) lazdishchandra Base
(B) Tribhuvandas Gaijar
a. wugflgel S Eys, AL R R R 7
(A) S22

4y, Which hormane 1s produces by pancreas?

(B) Broarzis 2%,

(B) awilian

(A" Insuimn TB) l'hyroxine
o, RalleciBed dAduR e vl &R 2l ?

(B) s25

>
h‘\
.J‘
=
&
h
’J"

(£ Caleium (B) Phosparus
cn SR wn Qe s el wond iy 8 7

(n) Bezndid A (B) Repin B

~ (o1 )]
K

(3 Due ta the deficiency of which vitamin is Berib

(4 ,\;.(..mn {B) Vitamin B

€1, Bz {Biood)wl 2ol surdl wde adt <l 7
(A) vmse&

.'-'-1L ",'-,",‘.'- i’

(A} Ped blood cells  {R) White blood cells

(B) Aassl

cientist invented the me dicine 'iod

() AR Wi 2

ina-tur-¢

(D) wifaze HRAPR

loride’ te cure plague?

() Acharyap nrafulchandra Ray
(D) Shantiswarup Bhatnagar

(C) Z2k2ain

(C) Testosterone

(C) Hlsrted

e mineral salt that anaiyse Hemoglobin?

(C)Irorn

(C) Bamin C

(C) Vitamin C

(C) ssusisRll

af +he foliowing is net found in componenis i blood?

(C) Mitochondria

oo anai ya vl das SR P2 o 8 7

(A) sile (B) 2u>.
Roaf of which plant becomes fieshy due to
{A) Beat {B) Carrot

opc, wis sl wiell «ell ¥

(B) WM

I S L OV
() »piu
Ahicn of the following living bewmg is 0ot
(A} Amoeba (B) Paramoecium
s ool o6 iy Ry A Wi B

{4) By (B) selis

54, Which organelle of a cel! deveiop a bipolar

(A) Ribosome (B) Goigi body

H Y gnd
unicellular

(C) win
storage of food?

(C) Reddish

(Cy Wuchereris

(C) et

spindle

)

(C) Mitochondria

(D) Estrogen

(D) AR

(D) Sulpher

(D) Bapl4 D

sri and Pellagre caused?

{D) Vitamin D

(D) »ssell

(D] Platelets

(D) AN

(D) All the three

(D) Centriole



5.  RuemfR 3oy wul-se 2 uzdidl ady oy S ?

(A) ey (B) arza (C) olseRuy (D) gt
55. Which living being cause Chickengunia, Dengue and Swinwfiu?
(A) Protozos (Bi Virus (C) Bacteria (D) Fungi

1’3,:%[‘5'3 Eﬂmw,f SOClal Science

56.  Ryelei-ll dglir Mwvarf i 34 o ?

(4) alug (B) dioudlzt (C) 2y (D) ximsl
56.  Which was the important port of the Indus valley culture?

(A} Lothal (B) Uholavira (C) Rangpur (D) Rozadi

57.  GaE@live s curt wnsdld vl el 7

(A) spr (B} %ots {C) wmst (D) «wds
57. Which king's dynasty Vailabhipur was the capitai?

{(A) Gurjar {B) Maitrak (C) Chavda (D) Selanki

58. St MU WU o wllal 54 & 7

(A) Rietdm (B) sty (C) et (D) »il4
58. What are the main source to know Histery”
f4) Stone mnscription {7} Tamvapatra
B] Bhojapara (D) All the three
59 wbR 3 Rl sl sokin Bl g i it 587
(A} sixillzr (B) el (C) siseint (D) ariAtA
59. Which equipment is used to know the directions during vovage / journey by
steamer er an aeroplane?
(A} Barometer (B} Thermo-meter {C) Compass {D) Steam-engine
60.  ~liarll 56 wiglis uuRL eI arundl QU sy A B 7
(A) eyl (B) W (C) awawnig (D) siaidn
60. In which of the following calamities, there is a lot of the harm to vhe wild-iife?
{A] Tsunami (B) Flood (C) Cycione (D) Wild fire
.yl oliou GUR oRISR MMl ERd #iansd ?
(A) e§ch (B) Ryag (C) *sRant (D) gagr
6d. What passes through the centre of the Farth?
(&) Tropic of capricon (C) Tropic of Cancer
{B)} The Equator (I} Polar ciecie
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62.  [Qal el Ml HSIRPR s 7

(A) viedFes HRIPR (B) [ HSIMPR (C) UREs #srwr (D) 2UsRs SRR
62. Which is the largest ocean in the world?

(A) The Atlantic Ocean (C) The Pacific Ocean

(B) The Indian Ocean (D) The Arctic Ocean
63.  oppldril su1 Byeetmiall s5gn R ug el ?

(A) 569 (B) ai-uusisl (C) west (D) Hdausu
63. In which of the following districts of Gujarat, the tropic of Capricon dose not pass

through?

(A) Kutch (B) Banaskantha (C) Patan (D) Mahesana
64.  dRldrl eRUBARI dous deel & 7

(A) 1500 B+l (B) 1400 (3 (c) 1600 [l (D) 1700 (34l
64. What is the langth of Gujarat sea skre?

(A) 1500 km (B) 1400 km (C) 1600 km (D) 1700 km

65.  Rigela-d 2rgli-u eciHi &y s wiss WG O ?
(A) iR -dlud (B) Adl - allse (C) QloudlRt - %9 (D) 2UAYR - Hiast

65. Which of the following pairs is wrong with reference to the Indus Valley culture?
(A) Rangpur-Limdi (C) Dholavira-Kutch
(B) Rozadi-Gondal (D) Deshalpur-Dholka
66. 6. 1772 di i-21sst visul udaR Al uam AR5 Al Sl eal?
(A) s Ayt (B) Fret BRA &S (C) Wert (D) tiotidwgdl
66. Who was the first adventure to enter the Antarctica continent in 17727
(A) Ronald Amundsen (C) Magellan
(B) Captain James Cook (D) Amerigovespucci
67.  Snlslg WePRr 84 7
(A) Badls (B) @2l (C) awrgar (D) »lisdrs
67. What is the capital of Canada?
(A) Quebac (B) Ottawa (C) vancouver (D) Auckland
68.  OfRldril AoERREL A Geuriri deelHl 2 A W ©. 84 ?
(A) o2 0l Geurt - e3¢l Byeall (C) aies 314 Gelrt - aau Breal
(B) eRuS sglu Geurt - R Breedl (D) SIPRIR AHAHURRY - PR Preedl
68. Which one of the following pair wrong with reference to the sanctuaries and

National Park of Gujarat?

(A) The Gir National park - Amreli District
(B) National Marine Park - Jamnagar District
(C) Vansada national Park - Valsad District
(D) Kaliyar Sanctuary - Bhavnagar District

w
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69.

69.

70.

70.

71z

71.

7

e

73.

73.

74.

74.

75.

75.

ollctie}g 0l U GuRaL 58 PRIML 2w ¢ ?

(A) Quel (B) sRaqrg (C) wr-ua (D) sl

In which city Gautam Buddha impart his first sermon?

(A) Vaishali (B) Kapilvastu (C) Sarnath (D) Bodhgaya
Ot A’ -l Udds A S8 &ell ?

(A) sl opa (B) ueicsy (C) Asdped uddl (D) wsope
Which of the following king promoted the ‘Gupta Samvate'

(A) sjri Gupta (B) Ghatotkacha (C) Chadragupta-1 (D) Samudragupta
WA GG iRl sut ud+l BRre SHRrd 6 ?

(A) 361 (B) Aol (C) A (D) Buirt

In which city of Australia the wonderful monument ‘Opera House' is situated?
(A) Canbera (B) Melbourne (C) Sydney (D) Brisbane
Aty 16 Wil st Iuell il AR A g 7

(A) aitllrudr (B) 2ideruor (C) UER AAR (D) ARLMAM ARR

What is the name of the lake formed due to the Bhakhara Namgal dam across the
Ravi Satluj?

(A) Gandhisagar (C) Sardar Sarovar

(B) Givindsagar (D) Ranapratap Sagar

PIgs Al 2wellA s U 2o suadl ?

(A) gasrl (B) Raul (C) suBuL (D) opdaR

With which name was the post-man known as in the Tugluk dynasty?

(A) Halkaro (B) Aswaro (C) Dakiya (D) Guptachar (spy)
AU [Ried RN i 280 1S 83 Asg W el ?

(A) 3R - ¥ (B) 3ssiet - weml  (C) oowpiBr - grst (D) SRR - aseor
Which of the following pairs regarding the sculpture of Gujarat is wrong?

(A) The Suryamandir - Modhera (C) The Jagatmandir - Dwarka

(B) The Rudramahalaya - Patan (D) The Kirtimandir - Vadnagar

(Rl GUR Ry Il SRR ol

SIS8IZ, 2 812, Aut 2, YRM 518

(A) grasic-Ru-y S2-34BM S2-aS88  (C) A Si3-21ua SE-SE-yRm 12
(B) aa siZ-a1S8i2-daru QE-yf Sz (D) auafid-dnrn SIE-IS - YRS
Arrage the following courts in ascending order.

High Court - Trial Court - Sessions Court - Supreme Court

(A) Trial Court - Sessions Court - Supreme Court - High Court

(B) Trial Court - High Court - Sessions Court - Supreme Court
(C) Sessions Court - Trial Court - High Court - Supreme Court
(D) Trial Court - Sessions Court - High Court - Supreme Court
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76.  $dl Yud olellg Hedll ollAIR tlells s8¢ 7
(A) 501 (B) wewliR (C) wesi (D) ARl
76. Which muslim king is known as the builder of palaces (Mahelo no Bandhnar)?
(A) Akbar (B) Jahangir (C) Shahnjahan (D) Aurangzeb
77. SR AR RTI (A2 g SraHait) sidel $4R YRUR sl el ?
(A) »iiselor 2006  (B) ARd 2004 (C) alselor - 2005 (D) SRi%R 2007
77. When did the Government of India pass the Right to Information (RTI) Act ?
(A) October 2006  (B) April 2004 (C) October - 2005 (D) December 2007
78.  GuiR HRsL il ARl ARSI 921 Wiocll -8R 88 ?
(A) YA &R (B) la €R (C) u AR (D) s gl sl
78. Which canal separates the North America and the South America?
(A) The suez Canal (B) Kiel Canal (C) Panama Canal (D) Non of these
79. Rl Ad ol d Ad Al oirudl.
L vdle W2 (p)  gemus
I a2 S (q)  <aus
0L Gl w2 (r)  wbpus
V. i ud (s) ISl s
(A) I-S, II-R, 11I-Q, IV-P (C) I-S, 1I-R, III-P, 1V-Q
(B) I-R, II-S, HII-P, IV-Q (D) I-R, 1I-P, 1II-S, 1IV-Q
7S Match the following properly.
. for Agriculture product (p) Wool mark
11. For household things / commodities  (q)  hall mark
1. For Wool () ag mark
Iv. For Gold (s) ISI Mark
(A) I-S, 1I-R, 1II-Q, 1V-P (C) I-S, 1I-R, 1II-P, 1V-Q
(B) I-R, 1I-S, III-P, 1V-Q (D) I-R, 1I-P, 1II-S, 1V-Q
80. ‘a1 Rrist Alusy 2l tufls el g 8 ?
(A) HRese (B) R (C) oRar (D) ed3
80. What is the 'Dhai Din Ka Zonpada' with reference to religion?
(A) Masjid (B) Mandir (C) Gurudwara (D) Daheru
81.  &lsill Al ud 58 7
(a) Bie (B) oloetiet (C) 2ususisl (D) wial
81. Which is the national game of Canada?
(A) Cricket (B) Base-ball (C) Ice-Hockey (D) Polo
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82.

82.

83.

83.

84.

84.

85.

85.

86.

86.

87.

87.

88.

88.

89.

89.

NMMS

‘Bry -4y 2 51l AP Wl 4y O 7

(A) BryR (B) wonot (C) vium
'Bihu" is the famous dance of which state?

(A) manipur (B) Panjab (C) Assam
W2l AL g SR vy o ?

(A) liHza udal (B) Rigaws 2ulRis  (C) sHRwa

Who buiid the Sahastraling Talav of Patan?
(A) Bhimdev - | (B)Siddharaj Jaysinh (C) Kumarpal
R Qi BAMRA £33 (Dojard) sl A ey 8 7

(D) Ber
(D) Bihar
(D) 3o Aeisl

(D) Mulraj Solanki

(A) olig (B) %+ (C) dm (D) B¢

To which community dies the 'Adinath Bhagvan Rushabhdev nu Dehru' belongs?
(A) bauddha (B) Jain (C) shikh (D) Hindu
‘Biffa 2AcR’ gl-il sl AL UG S 7

(A) Rl (B) 2wrispl (C) ARy (D) sl

In which city of France 'Effiel Tower' is situated?

(A) Limoz (B) Strasburg (C) Paris (D) Dirza
Wliudr udd e sHR @y og ?

(A) S.. 1556 (B) 9.3 1526 (C) & 1757 (D) &.a 1761
When was the first f Panipat fought?

(A) 1556 A.D. (B) 1526 A.D. (C) 1757 AD. (D)1761 AD.
o Ricu s41 3Ea oleaus e QA saL s ?

(A) susR (B) »is0oRR (C) 2020t (D) gny
With shich Mughal King, Chhatrapati Shivaji had to fight?

(A) Babar (B) Akbar (C) Auranzeb (D) Humayu
A2t U4 56 Wrtaud 2R S ?

(AR (B) A (C) ool R4l (D) gs1n

Which of the following is a man-made calamity?
(A) Flood (B) Cyclone (C) Bomb-blast
eIl % QUL BuR i s Wlad dl....

(A) Yo (B) saicaraL (C) %uarat

The part of the earth on which we live?

(A) Lithosphere (B) Hydrosphere (C) Biosphere

(D) drought/famine

(D) cidiaret

(D) Atmosphere
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ey WAl AsAAEl GuR sl 6l ($3) olitcunl vued) © 7

(A) U APR (B) Rosy 2R (C) outll upR (D) Rrug8 diwi
Which dam is built on the river Chanbal in Madhyapratesh?

(A) The Nagarjuna Sagar (C) The Gandhi sagar

(B) The Nizam Sagar (D) The Hirakund Project

Page 30



	Page 1
	Titles
	~l1.tt,: [q,+U~l: 1 90 ~1~2 
	NMMS - 2015 
	" 

	Images
	Image 1
	Image 2
	Image 3


	Page 2
	Titles
	NMMS - 2015 


	Page 3
	Titles
	[Cl~'lL - 1 \U~ ~\kU ~il. 
	Part - I MENTAL ABILITY TEST 

	Tables
	Table 1


	Page 4
	Titles
	(A) 9 
	(A) 4 
	(A) 6 
	(c) 14 
	(c) 20 
	(c) 6 
	(c) 8 

	Images
	Image 1
	Image 2


	Page 5
	Tables
	Table 1


	Page 6
	Images
	Image 1
	Image 2
	Image 3
	Image 4

	Tables
	Table 1


	Page 7
	Titles
	, ,~) , - 
	(D) 18 
	I-~ 
	., . ., 
	-: I 
	IK 
	I L __ ¥!.. ~: 
	V'., 
	r--~: 
	!.- +- ! 
	i. t-:-'" 
	,-' ._----, 
	. , 
	--~\ 
	I ", i 
	i I : 
	/ : "\ 
	- i / 
	1------: 
	f\~ : 
	(c) 
	I-r-~ 
	!0 
	L. J 
	V\J , 
	L _ _j 
	L~ I 
	1-:1 
	I 
	i 
	~---~ 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5
	Image 6
	Image 7


	Page 8
	Titles
	• 
	• 
	.. ) 
	(u) .:. i. 78316 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5
	Image 6
	Image 7
	Image 8
	Image 9
	Image 10
	Image 11
	Image 12
	Image 13
	Image 14
	Image 15
	Image 16
	Image 17
	Image 18
	Image 19
	Image 20
	Image 21
	Image 22
	Image 23
	Image 24
	Image 25
	Image 26
	Image 27
	Image 28
	Image 29
	Image 30
	Image 31
	Image 32
	Image 33


	Page 9
	Tables
	Table 1


	Page 10
	Titles
	(A) 3WIT 
	(B) 3MI.l 
	(c) 3'N!T 
	(I) 3MIT 
	(A) el~~ll-{l2~ (B) Ws2ll-{l2~ 
	(c) ~~~i 
	c(l~ufi : 2l.c(l .. ~~lc:t. : ? 
	(C) ~~ 
	(D) ~l~ 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5
	Image 6
	Image 7
	Image 8


	Page 11
	Titles
	(A) 16 
	(c) 12 
	. 
	(A) n 
	(A) X 
	(A) Z 
	(8) G 
	(c) K 
	(c) S 
	(c) R 
	(c) U 
	(c) X 
	(c) 100 
	(A) + , x 
	(c) + , - 

	Images
	Image 1


	Page 12
	Tables
	Table 1


	Page 13
	Titles
	c>-\) 144 
	(C) 288 
	(D) 72 
	(D) ttr 
	(r3) lil 
	(C) ~l~ 
	(A) 5 
	(B) 4 
	(C) 3 
	(D) 5 
	(C) 3 
	(D) 5 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5
	Image 6
	Image 7
	Image 8
	Image 9

	Tables
	Table 1


	Page 14
	Titles
	(A) Cln~ (B) ~~ (C) ~~ (D) ~Ul~ (NE) 
	+ -1. ~~ - detl x -1. ~~ + ~di 15 x 5 + 2 -1 ~l& ~ ~G~ ~lq ? 
	(A) 5 (B)4 (C)3 (D)l 
	87. + ~ ~~ x ~-1. - -1. ~~ + ~di 5 +3-7 = ? 
	(A) 5 
	(A) 50 
	(B) 22 
	(C) 38 
	(D) 1 
	(D) 40 
	(A) 50 
	+ -1. ~~ + ~-1. - -1. ~~ x ~di 12 + 6 - 5 = ? 
	(A) 13 
	(C) 10 
	(D) 8 

	Tables
	Table 1


	Page 15
	Titles
	(e) 5 
	ee) 8 

	Images
	Image 1


	Page 16
	Titles
	[q~ol- 2 / Part - II 
	tu.utill~ tt ~ ~21 / SCHOLASTIC APTITUDE TEST 
	(B) 100 
	(c) 80 
	(c) 40 
	f.\; S0 
	J, (-·2Y:~-;..(-2)3= 
	(8) (-2) 
	(c) 3 
	(D) 1 
	, ... ') "''' 
	- - \ 
	t : r: 
	(8) 12 
	(c) 10 
	(D) 6 
	(8) 2 
	(c) 3 
	(D) 6 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5
	Image 6
	Image 7
	Image 8


	Page 17
	Titles
	(A) 5 (8) 7 (C) 3 
	(D) 2 
	(D) 18 
	(8) 14 
	(A) 12 (8) 14 (C) 15 (D) 18 
	(A) 7 al{L (8) 14 al{L (C) 21 al{L 
	(D) 28 alfi 
	(A) 800 (8) 900 (C) 1800 
	(D) 3600 

	Images
	Image 1
	Image 2

	Tables
	Table 1


	Page 18
	Titles
	(A) 40 q~ (8) 14 q~ (C) 24 q~ (D) 10 q~ 
	[(aX))' x (aY)X] -:- aXY 1 ~l§. ~ <PlL'4.L 
	(A) a2 (8) aX (C) aY 
	(8) 9x2 
	(C) 9x 
	(D) 9xo 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5
	Image 6

	Tables
	Table 1


	Page 19
	Titles
	~~LL.I Physics 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5
	Image 6

	Tables
	Table 1


	Page 20
	Titles
	(A) ~ (3toa{ (B) ?{il?t (3toa{ (C) oLLd (3toa{ 
	~:&q,liltLl~ / Chemistry 

	Tables
	Table 1


	Page 21
	Titles
	35 ~l "tu?l: ~~l~l~ 'i.~ ? 
	(D) H20 
	(A) 3 (B) 4 (C) 7 
	(D) H20 
	(D) 8 
	(A) 3 
	(A) ~1{2 (B) 2~~~~ (C) ~l~ 
	(D) c,fu~ 

	Images
	Image 1
	Image 2
	Image 3

	Tables
	Table 1


	Page 22
	Tables
	Table 1


	Page 23
	Titles
	4~. ~.:uV ~~~ ;~(~ ~.~~ .. ~l <li.c1.~«<tq, ct.~R ~~ ~ ? 
	(A) ~·.lJ,,~t'~.' f .•• }~ (B) f-1.~q_~r~~ ~~o-~. (e) ~·<tl?t ~~!:i ~ (D; ~t ("XJ.~ ~2<ilOl~ 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5
	Image 6
	Image 7
	Image 8
	Image 9
	Image 10
	Image 11
	Image 12


	Page 24
	Titles
	(D) :it~l 
	~1~~ 1 £q_+u~{l <j.~~1 t;t~l"1. [fAll~l "lllygr"i.l lilG1 ~i.~4'1. 6~ ~ ? 
	(A) ~~l.a (B) ~~ (C) qiql:il~ 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5
	Image 6
	Image 7
	Image 8
	Image 9
	Image 10


	Page 25
	Images
	Image 1
	Image 2
	Image 3
	Image 4


	Page 26
	Titles
	(D J Bodhgay 3 

	Images
	Image 1
	Image 2
	Image 3


	Page 27
	Titles
	~ l;}Eta CJl.lUlle..t ~al~l CJl.i\:l~R CJl.lUUe. bJ.Qll{ ~ ? 
	(A) ~~ (B) ~e.iou~ (C) ule.~e.i 
	(A) ~lbG1CJI.~ 2006 (B) ~a 2004 (C) ~1CJI.~ - 2005 (D) -fi~l6l~ 2007 
	7 8. (3n~ ~~l ~.t ~~l ~~l.t ~il. ~l~dI. ~J.~ b~ ? 
	(A) ~~ ~J.~ (B) 5la ~J.~ (C) ~~l~ ~J.~ (D) ~ ~~l ~41. 
	I. ~d'iU~l ~2 (p ) ~a~ 
	II. Et~ Q~~lU..{l ~~ ~2 (q) e.laltli 
	III. Gl.~ li.l2 (r) ~olltli 
	(C) ~'l~ 
	'&l~ ~~l ~1't.Sl' ~ \:l~ ~~~ ~ ~ ? 
	(A) ~~ (B) ~ 
	(A) IlbG (B) ~~la (C) ~l~~e.l5l (D) \llal 

	Images
	Image 1
	Image 2


	Page 28
	Titles
	(A) It@l'l~ (B) ti~CJt. 
	(C) ~~ 
	(D) fur 
	85. 
	86. 
	87. 
	89. 

	Images
	Image 1
	Image 2
	Image 3
	Image 4
	Image 5


	Page 29
	Images
	Image 1



